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Aufgabe 1

(iii) f(xr) = —223 — 222 + 122
fiv) () = 20 — 4a?
(v) f(x) = x* = 7x*+12

(i) f(z) =2(x=3)(x +2)(x - 1)

Aufgabe 2
1 Bestimmen Sie alle Nullstellen von f — wenn méglich
Aufgabe Lésung

a)f(x)=x>-19x-30

XxX=-2vx=-3vx=5

b) f(x)=2x>=10x2+10x+6

[= 2(x-3)(x%-2x-1)]: X = 3 v X ~-0,41
vX=~241

c) f(x)=-x>+2x2+11x-12

[F(x-4)(x?+2x=-3);x=4vx=-3
vx=1

d)f(x)=x3+x2-x-10

X=-2vX~-4,1926 vx ~1,1926

e)f(x)=05x%+25x2+05x-5

x = 2 (keine weitere Lésung)

f) f(x)=3x>-12

X ~1,5874

9 f(x)=10x°-40x*+10x>+60x 2

X = 0 (doppelte Nullstelle) vx=-1v x=2
vX=3

h)f(x)=2(x=-4)(x%+2x-3)

X=4vx=-3vx=1(s o)

i) x°+7x*=2x-14x2+x+7

x= 1 (doppelt) vx =-1 (doppelt) vx =7

Quelle: http://www.mathebaustelle.de/analysis/horner_und_nullstellen.pdf



